

**CARD TRAINING DETAILS (Up to March - 2016)**

Type of Training		Training Details					
Panchayati Raj		1 day	2 day	3 day	5 day	Others	Total Training Days
	Number of Trainings	140	164	3	24		331
	Number of Trainees	3500	4162	90	692		8444
	<b>Training Days</b>	<b>3500</b>	<b>8324</b>	<b>270</b>	<b>3460</b>		<b>15554</b>
MGNREGA	Number of Trainings	50	0	0	5	5	60
	Number of Trainees	3930	0	0	660	1500	6090
	<b>Training Days</b>	<b>3930</b>	<b>0</b>	<b>0</b>	<b>3300</b>	<b>6000</b>	<b>13230</b>
Watershed	Number of Trainings	716	36	14	0	23	789
	Number of Trainees	27561	1544	597	0	873	30575
	<b>Training Days</b>	<b>27561</b>	<b>3088</b>	<b>1791</b>	<b>0</b>	<b>5536</b>	<b>37976</b>
WASH	Number of Trainings	85	16	0	0	0	101
	Number of Trainees	3829	110	0	0	0	3939
	<b>Training Days</b>	<b>3829</b>	<b>220</b>	<b>0</b>	<b>0</b>	<b>0</b>	<b>4049</b>
Rural Livelihoods	Number of Trainings	1771	348	153	22	1447	3741
	Number of Trainees	50263	11420	4822	1100	14980	82585
	<b>Training Days</b>	<b>50263</b>	<b>22840</b>	<b>14466</b>	<b>5500</b>	<b>106640</b>	<b>199709</b>
Technical Trainings	Number of Trainings	74	60	17	51	11	213
	Number of Trainees	2007	1750	450	1625	656	6488
	<b>Training Days</b>	<b>2007</b>	<b>3500</b>	<b>1350</b>	<b>8125</b>	<b>28160</b>	<b>43142</b>
Agriculture	Number of Trainings	54	3	13	0	1	71
	Number of Trainees	1647	74	399	0	204	2324
	<b>Training Days</b>	<b>1647</b>	<b>148</b>	<b>1197</b>	<b>0</b>	<b>3468</b>	<b>6460</b>
Wadi	Number of Trainings	3	0	0	0	0	3
	Number of Trainees	85	0	0	0	0	85
	<b>Training Days</b>	<b>85</b>	<b>0</b>	<b>0</b>	<b>0</b>	<b>0</b>	<b>85</b>
Capacity Building	Number of Trainings	0	1	0	0	2	3
	Number of Trainees	0	0	0	0	700	700
	<b>Training Days</b>	<b>0</b>	<b>0</b>	<b>0</b>	<b>0</b>	<b>9716</b>	<b>9716</b>
Education/Health	Number of Trainings	0	0	3	0	0	3
	Number of Trainees	0	0	371	0	0	371
	<b>Training Days</b>	<b>0</b>	<b>0</b>	<b>1113</b>	<b>0</b>	<b>0</b>	<b>1113</b>
Others	Number of Trainings	471	5	68	2		546
	Number of Trainees	27950	160	3450	250		31810
	<b>Training Days</b>	<b>27950</b>	<b>320</b>	<b>10350</b>	<b>1250</b>		<b>39870</b>
Grand Total	<b>Total Number of Trainings</b>	<b>3364</b>	<b>633</b>	<b>271</b>	<b>104</b>	<b>1489</b>	<b>5861</b>
	<b>Total Number of Trainees</b>	<b>120772</b>	<b>19220</b>	<b>10179</b>	<b>4327</b>	<b>18913</b>	<b>173411</b>
	<b>Total Training Days</b>	<b>120772</b>	<b>38440</b>	<b>30537</b>	<b>21635</b>	<b>159520</b>	<b>370904</b>

## TRAININGS & CAPACITY BUILDING (2015-16)

S.No.	Date	Name of the Project	Topic	Total Days of Training	Total No. of Participants
1	27-01-2015	Solidaridad (FSP)/HUF	RTRS Principles and process of vermicomposting	1	15
2	18-01-2015		Internal audit, vermicomposting and Gap elements	1	12
3	05-01-2015		Internal audit, vermicomposting and Gap elements	1	13
4	07-01-2015		Internal audit, vermicomposting and Gap elements	1	10
5	01-02-2015		FPO formation, Vermicomposting and planning 2015	1	15
6	02-03-2015		FPO/SRI	1	17
7	14-03-2015		Good Agriculture Practices	1	32
1	22-01-2015	Samruddhi	INM, IPM, Horticultural crops, FPO, Organic farming, Vermicomposting (char-chakri), deep ploughing etc.	1	52
2	23-01-2015			1	49
3	29-01-2015			1	22
1	20-01-2015	IWMP (Ujjain/Tarana)	Implementation of Income Generation/Livelihood Enhancement Activities of SHGs	2	20
2	27-02-2015		Enhancement of Income Generation /Livelihood Activities of SHGs	2	24
3	04-03-2015		Aggregation of user charges and contribution from Beneficiaries	1	30
4	15-03-2015		Operation and Maintenance of created infrastructures/assets	1	28
1	23-03-2015	Watershed Devp. Project, NABARD (CG)	Soil and water conservation structures layout, cost estimate and maintainance (Makardone)	1	40
2	24-03-2015			1	50
1	06-04-2015	FPO (Dhar)	FPO concept	1	20
2	13-04-2015			1	15
1	30-01-2015	NABARD Wadi (Dhar)	Low cost vermi-compost	1	25
2	17-05-2013		Pit digging	1	30
3	01-06-2015		Stitching for women SHG	1	30
1	14-08-2015 to 20-08-2015	FPO (Mandla)	Kisan Sabha/Goshtis conducted	17	204
1			No. of Trainings	3	50
1	20-05-2015	SILF	Fishery	1	15

S.No.	Date	Name of the Project	Topic	Total Days of Training	Total No. of Participants	
1	6/4/15 to 8/4/15	MKSP-Ghughri	Agri. Production System	3	40	
2	9/4/15 to 11/4/15			3	20	
3	13/4/15 to 15/4/15			3	28	
4	10-04-2015		Scientific System of Grain Storage	1	24	
5	21/4/15 to 23/4/15		Agri. Production System	3	23	
6	24/4/15 to 25/4/15			2	20	
7	27/4/15 to 28/4/15			2	20	
8	01-04-2015	MKSP-Mandla	Integrated crop management	1	16	
9	14-04-2015			1	19	
10	17-04-2015			1	33	
11	22-04-2015			1	17	
12	23-04-2015			1	14	
13	06-04-2015	MKSP-Dindori	Improved Grain Production	1	26	
14	11-04-2015			1	33	
15	15-04-2015			1	29	
16	17-04-2015			1	14	
17	30-04-2015	MKSP-Ghughri-2	Storage & Primary Processing	1	46	
18	08-04-2015			1	26	
19	09-04-2015			1	42	
20	14-04-2015			1	22	
21	18-04-2015			1	38	
22	09-04-2015			1	20	
23	12-04-2015	MKSP-Ghughri-1	Storage & Primary Processing	1	32	
24	13-04-2015			1	29	
25	14-04-2015			1	43	
26	15-04-2015			1	33	
27	06-04-2015	MKSP-Ghughri-3		1	32	
28	23-04-2015			1	39	
29	25-04-2015			1	30	
30	28-04-2015			1	38	
31	6/5/15 to 8/5/15	MKSP-Dist.	Importance of Deep Ploughing	3	37	
32	9/5/15 to 11/5/15			3	30	

S.No.	Date	Name of the Project	Topic	Total Days of Training	Total No. of Participants
33	13/5/15 to 15/5/15			3	25
34	18/5/15 to 19/5/15			3	32
35	20/5/15 to 21/5/15			3	29
36	23/5/15 to 24/5/15			2	34
37	27-05-2015	MKSP-Cluster	Importance of Deep Ploughing	1	25
38	30-05-2015		Kharif Plan	1	41
39	14-05-2015	MKSP-Mandla	Storage & Primary Processing	1	16
40	23-05-2015		Storage & Primary Processing	1	17
41	06-05-2015	MKSP-Dindori	Introduction to modern tools	1	28
42	08-05-2015			1	28
43	13-05-2015		Importance of market system process	1	11
44	15-05-2015		Introduction to modern tools	1	30
45	21-05-2015			1	71
46	4/6/15 to 6/6/15	MKSP-Dist.	Improve cultivation of kharif crop	3	32
47	09-06-2015		Kharif Plan ( Dr. B.C.Dubey also interacted with VLRPs)	1	23
48	11/6/15 to 13/6/15		Improve cultivation of kharif crop	3	26
49	15/6/15 to 17/6/15			3	27
50	18-06-2015		Kharif plan & FPO promotion	1	37
51	19-06-2015		Improve cultivation of kharif crop	1	53
52	20-06-2015			1	52
53	23/6/15 to 24/6/15			1	32
54	29/6/15 to 30/6/15			1	35
55	09-06-2015	MKSP-Mandla	Integrated crop management	1	42
56	10-06-2015			1	32
57	13-06-2015			1	34
58	16-06-2015			1	18
59	25-06-2015			1	49

S.No.	Date	Name of the Project	Topic	Total Days of Training	Total No. of Participants
60	29-06-2015	MKSP-Dindori		1	22
61	11-06-2015		Seed selection, treatment & germination	1	38
62	15-06-2015			1	70
63	17-06-2015		Vegetable cultivation	1	56
64	22-06-2015		Seed selection, treatment & germination	1	10
65	24-06-2015		Vegetable cultivation	1	40
66	08-06-2015	MKSP-Ghughri-3	Seed selection, treatment & germination	1	24
67	09-06-2015	MKSP-Ghughri-4		1	27
68	11-06-2015	MKSP-Ghughri-5		1	85
1	26/6/15 to 27/6/15	TATA TRUST	TOT-FFS	2	28
1	13/4/15 To 14/4/15	Ekgaon Technology	SHGs Leader	2	20
2	15/4/15 To 16/4/15		SHGs Leader	2	32
1	11/4/15 To 17/4/15	IWMP	Watershed	7	24
2	21/4/15 TO 27/4/15			7	16
3	01/5/15 To 07/5/15			7	45
4	11/5/15 To 17/5/15			7	42
5	21/5/15 to 27/5/15			7	20
6	1/6/15 to 7/6/15			7	15
7	15/6/15 to 21/6/15			7	22
1	06-04-2015	FSP/HUF	Vermi compost & Fym method	1	17
2	14-04-2015		Vermi GAP	1	13
3	15-04-2015		Vermi GAP	1	10
4	06-05-2015		Soil Testing, Vermi Compost, Jaivik Kheti	1	142
5	03-05-2015		Soil testing & discursion	1	32

S.No.	Date	Name of the Project	Topic	Total Days of Training	Total No. of Participants
6	08-05-2015		Improved Agriculture Practices	1	12
7	05-08-2015		Vermi GAP	1	30
8	09-05-2015		Seed treatment, Seed germination test, BBF RBF and Seed variety	1	27
9	20-05-2015		Soil testing, seed treatment and seed germination test	1	32
10	23-05-2015		Soil testing, seed treatment and seed germination test	1	30
1	1/4/15 to 30/6/15	SFAC	BODs capacity building, seed treatment,	17	532
1	08-Feb-15	IWMP (Dindori)	SHG Book Keeping	1	55
2	12-06-2015		Integrated Farming System Approach	4	137
3	08-07-2015		Integrated Crop Management	4	152
4	05-08-2015		Group Insertion Operation FIG	4	180
1		Child Fund India	Organized village level meeting with VHSC members on their current roles & responsibilities regarding Health & sanitation intervention in Villages.		46
2			Conducted capacity building program with the support of NRHM on roles & responsibilities in Village health & sanitation activity.		44
3			Training program with SMC members to motivate them for school/ education intervention.	3	120
4			Capacity building program with child club members on their active roles & responsibilities in club.	4	168
5			Capacity building program with NRHM for adolescent health & their health related issues.	2	
1	9/9/15 to 11/9/15	LINK WORKER SCHEME	Basic Orientation of Project, Project Areas, Targets, SNA,	3	215

S.No.	Date	Name of the Project	Topic	Total Days of Training	Total No. of Participants
2	9/08/2015-11/08/2015		Field Visits, etc.  Project Areas, Targets, HIV/STI, HRGs Population, Facilities of HRGs & other Population of project, SNA Formats & Process, Reporting formats etc.	3	36
1	22/09/2015 - 24/09/2015	CFT	Training of PRI representative and frontline functionaries (Rozgar Sewak, JE) on integrated watershed management, Training of SHG/Hamlet representatives on watershed.	2	375
2	28/09/2015 - 30/09/2015		3		
3	29/09/15 - 01/10/2015		3		
1		JK Tyres	Agriculture related, stitching, Motor Binding, Beauty parlour	60	456
			<b>Total</b>	<b>317</b>	<b>6107</b>

**CARD Training Details (1999-2015)**

Type of Training	Topic of Training	Number of Trainings	Number of Trainees	Period (days)	Training Days
MGNREGA	Village level training with WDC under NREGA	45	2700	1	2700
MGNREGA	Orientation on MGNREGA and Convergence with Line Department	5	1230	1	1230
MGNREGA	Orientation on MGNREGA and Intensive Participatory Planning Exercise (IPPE)	5	1500	4	6000
MGNREGA	Orientation on MGNREGA and Intensive Participatory Planning Exercise (IPPE)	5	660	5	3300
Panchayat Raj	Training on social audit under NREGA	3	90	3	270
Panchayat Raj	MPRLP- Mandla-PFT	10	270	2	540
Panchayat Raj		10	300	5	1500
Panchayat Raj	MPRLP-Dindori-PFT	14	392	2	784
Panchayat Raj		14	392	5	1960
Panchayat Raj	PACS	140	3500	1	3500
Panchayat Raj		140	3500	2	7000
Watershed	IWMP Village samiti	19	513	7	3591
Watershed	IWMP Panchayatsarpanch	6	150	15	2250
Watershed	Awareness on Participatory Irrigation Management (PIM Act 2006)	140	4208	1	4208
Watershed	On farm Water Management and Participatory Irrigation Management Act	140	5600	1	5600
Watershed	Leadership Building Management (at field level)	140	5600	1	5600
Watershed	System of Rice Intensification	140	5600	1	5600
Watershed	Formation of Sub Committee under Water User Association (WUA)	44	2648	1	2648
Watershed	Awareness on PIM Act (Three Days Residential Training at Training Centre Level)	7	196	3	588
Watershed	Awareness on PIM Act (One Day Residential Training at Training Centre Level)	70	2450	1	2450
Watershed	MPRLP- Mandla-TST	10	600	1	600
Watershed		10	600	2	1200
Watershed	MPRLP-Dindori-TST	9	405	1	405
Watershed		9	405	2	810
Technical Training	Skill Development	24	507	1	507
Technical Training	Training of women on Agarbatti Rolling	15	300	3	900
Technical Training	Helping the youth to acquire pre vocational skills	1	125	5	625
Technical Training	Training of youths as per life skill training module – no. of training sessions and peer educator trained as facilitator to conduct life skills training in operational area (specially married youths)	2	150	3	450
Technical Training	CFLI	10	200	4	800
Technical Training	Toyota Foundation	10	250	2	500
Technical Training	DST-UNDP	50	1500	1	1500
Technical Training		50	1500	2	3000
Technical Training		50	1500	5	7500
Livelihoods	Agriculture Development	924	18990	1	18990
Livelihoods	Tejaswani	183	5490	1	5490
Livelihoods	Tejaswani	117	3510	2	7020
Livelihoods	Tejaswani	30	1200	3	3600
Livelihoods	TRIFED Harra	11	451	2	902
Livelihoods	TRIFED Mahua	18	630	2	1260
Livelihoods	TRIFED Honey	20	1000	5	5000
Livelihoods	Ekgaonagri	9	567	2	1134
Livelihoods	DPIP Orientation- TOT				
Livelihoods	Start up	6	180	4	720
Livelihoods	Group Formation	6	180	4	720
Livelihoods	Micro Planning	6	180	4	720
Livelihoods	DPIP- CIG CB (1024X10)	1024	10240	7	71680

Type of Training	Topic of Training	Number of Trainings	Number of Trainees	Period (days)	Training Days
Livelihoods	DPRP-TOT				
Livelihoods	Sensitization	2	100	5	500
Livelihoods	Group/ Micro planning	5	200	4	800
Livelihoods	Refresher	8	280	3	840
Livelihoods	DPRP-CIG CB (400X10)	400	4000	8	32000
Livelihoods	Group Strengthening	10	300	2	600
Livelihoods	Group Strengthening	25	1000	1	1000
Livelihoods	Group Management	6	240	1	240
Livelihoods	Group Integration	25	1000	2	2000
Livelihoods	Integrated Farming System Approach	10	300	2	600
Livelihoods	Integrated Farming System Approach	45	1800	1	1800
Livelihoods	Integrated Land and Water Management	8	240	3	720
Livelihoods	Integrated Land and Water Management	25	1000	1	1000
Livelihoods	Integrated Crop Management / sustainableag practice	12	360	3	1080
Livelihoods	Integrated Crop Management / sustainableag practice	50	2000	1	2000
Livelihoods	Integrated Nutrient & Pest Management	6	180	2	360
Livelihoods	Integrated Nutrient & Pest Management	40	1600	1	1600
Livelihoods	Integrated Agro Forestry/ Horticulture Programme	3	90	2	180
Livelihoods	Seed Selection, Treatment, Germination, etc	6	180	2	360
Livelihoods	Seed Selection, Treatment, Germination, etc	40	1600	1	1600
Livelihoods	Area based Product Development	6	180	3	540
Livelihoods	Area based Product Development	9	360	2	720
Livelihoods	Improved Grain Production	10	300	3	900
Livelihoods	Improved Grain Production	25	1000	1	1000
Livelihoods	Improved Grain Production	75	3000	1	3000
Livelihoods	Storage, Primary Processing	9	270	2	540
Livelihoods	Storage, Primary Processing	18	720	1	720
Livelihoods	Vegetable Cultivation	13	390	2	780
Livelihoods	Vegetable Cultivation	30	1200	1	1200
Livelihoods	Vegetable Cultivation	45	1800	1	1800
Livelihoods	Introduction to Micro Irrigation System	9	270	2	540
Livelihoods	Introduction to Micro Irrigation System	25	1000	1	1000
Livelihoods	Introduction to Modern Farming Tools	9	270	2	540
Livelihoods	Introduction to Modern Farming Tools	25	1000	1	1000
Livelihoods	Introduction to Agro based Industries	7	210	3	630
Livelihoods	Introduction to Market System, Process & Forces	9	270	3	810
Livelihoods	Introduction to Market System, Process & Forces	30	1200	1	1200
Livelihoods	Basic Entrepreneurship Skill Development	9	270	3	810
Livelihoods	Information dissemination on various government schemes	9	270	2	540
Livelihoods	Information dissemination on various government schemes	45	1800	1	1800
Livelihoods	Follow up trainings as per Need and Other Local Need based Trainings	3	90	2	180
Livelihoods	SDTT	8	480	2	960
Livelihoods	SGSY Mandla	24	672	1	672
Livelihoods		24	672	2	1344
Livelihoods		24	672	3	2016
Livelihoods	SGSY Dindori	18	540	1	540
Livelihoods		18	540	2	1080
Livelihoods		18	540	3	1620
Livelihoods	NABARD Mandla	12	300	1	300
Livelihoods		12	300	2	600

Type of Training	Topic of Training	Number of Trainings	Number of Trainees	Period (days)	Training Days
Livelihoods		12	300	3	900
Others	Information dissemination through various communication methods on RSH and reproductive health services - Focus on BCC modeCapacity building of adolescent on sanitary paid making	3	105	1	105
Others	Identify the youth for increase potential leadership quality to promote as peer educators.	1	35	1	35
Others	Formation and strengthening of youth clubs.	1	100	5	500
Others	Organize session with youth to address social issues like early marriage, alcoholism, etc.	1	70	1	70
Others	Interaction sessions for VDC, SHGs, PRIs, Bank and GO/NGOs in availing different supporting schemes.	2	120	1	120
Others	Strengthening of community CBOs to form supportive structure at apex level.	1	25	1	25
Others	Wall magazine, creative letter writing skills, issue based letter writing, exchange of letters between unsponsored children	1	150	5	750
Others	Capacity Building Of Balwadi Teachers And Care givers for Age Appropriate care and Teaching method	1	20	1	20
Others	Counseling Session with pregnant Mothers And Caregivers for Child Care and Nutrition practices	1	90	3	270
Others	Identify the youth/children for increase potential leadership quality to involvement in Community services	1	30	1	30
Others	Youth led program on various social issues ( migration ,early marriage	1	60	3	180
Others	Capacity building of School management committee	1	60	2	120
Others	capacity building of Youth on Reading skill program	1	20	2	40
Others	capacity building of Village Health and Sanitation Committee	1	30	1	30
Others	ToT on Census operations	66	3300	3	9900
Others	Training of enumerators to perform accurate Census operations	459	27500	1	27500